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@ Learn the properties of limits.
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Assume that limy_,c f(x) and limx_,¢ g(x) exist. Then
lim k = k,
X—C
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Assume that limy_,c f(x) and limx_,¢ g(x) exist. Then
lim k = K,
X—C

lim x = c,
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Assume that limy_,c f(x) and limx_,¢ g(x) exist. Then
lim k = k,
X—C

lim x =c,

X—C

lim [f(x) + g(x)] = lim (x) + lim g(x),
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Assume that limy_,c f(x) and limx_,¢ g(x) exist. Then
lim k = k,
X—C
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lim [f(x) + g(x)] = lim (x) + lim g(x),
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Properties of Limits

Properties of Limits
Assume that limy_.¢ f(x) and limx_.¢ g(x) exist. Then

lim k = k,
X—C
lim x = c,
X—C

Jim 1)+ ) = fim 10x) + fim, 6(x)
lim [f(x) = g(x)] = lim f(x) — lim g(x),
lim [kf(x)] = k lim f(x),
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Properties of Limits

Properties of Limits
Assume that limy_.¢ f(x) and limx_.¢ g(x) exist. Then

lim k = k,
X—C
lim x = c,
X—C

Jim 1)+ ) = fim 10x) + fim, 6(x)
lim [f(x) = g(x)] = lim f(x) — lim g(x),
lim [kf(x)] = k lim f(x),

lim [f(x)g(x)] = [lim 7(x)] [lim g(x)]
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Properties of Limits

Properties of Limits
Assume that limy_.¢ f(x) and limx_.¢ g(x) exist. Then

lim k = k,
X—C
lim x = c,
X—C

lim [£(x) + g(x)] = lim £(x) + lim g(x),

lim [£(x) — g(x)] = lim £(x) — lim g(x),
lim [kF(x)] = & lim £(x),

Xlimc [f(x)g(x) [Ilm f(x) ] I|m g(x ]

. f(x)  limyoe f(x)
)l(lﬂ]c g(x)  limy_cg(x)

unless Ilm g( )=0,
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Properties of Limits

Properties of Limits
Assume that limy_.¢ f(x) and limx_.¢ g(x) exist. Then

lim k = k,
X—C
lim x = c,
X—C

lim [£(x) + g(x)] = lim £(x) + lim g(x),
lim [£(x) = g(x)] = lim £(x) — lim g(x),
lim [kf(x)] = & lim (x),
fim 1109001 = [fim 10} [tim 900,

)] =
lim f(x) _ limy_cf(x)
x=c g(x)  limy_¢c g(x)

lim [FO)P = [Ilm f(x)] provided L!iincf(x)]p exists.

unless Xlimcg(x) =0,
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